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Math 8 HW Section 3.4 Applications of Percentages:
1. Given the following chart, find the total price after tax.
Iltems Price Tax (HST 12%) Total Cost
Textbook
— $85.00 =45 (o) 7o lry)= &5 (112)
— \ 0. LQ = 0\5‘ l =
Bicycl -
e $545.00 = sUs (o) =sus (L)
- _bs. o SEATG L Te
Mac Book Pro
v $2500.00
Honda Civic 2012
% $16,5000
(Challenge) YL + L\ = VP20 2 )AL $8,176
Rolex Watch
=_A%ov =
2. Carole works as a life insurance agent and earns 35% commission on all her sales. If her total sales last year

was 51,250,000 how much commission did she earn?
AMIA = \\'1/?0\0\7\? < OB
433 vo0
Kobe went to the Nike store to buy a pair of basketball shoes. The retail price is 5175 and tax |s 12%. How
much does he need to pay? \'}{ ( G \’L) - TA’L UNU"
A\ s ( \. \11) = To1aC sy

\ + O.l &
Sally went to Aritzia to buy a dress with a retail prll:eShe waited till Boxing Day and the dress is
¥R L\ A5 =—
WY Kols a4 —

discounted at QS% off. How much is the dress now? -

\m‘/@yw 'P\(a(’oé:

Tiffany went to Bestbuy to buy a $3200 Samsung TV, a $1200 Stereo
’—/-'_\
much is the total cost including tax?

ToT4><L = (3200 +lasoL 30 (1 \'v)
{k%w

Bob went to Tim Horton’s to buy lunch for himself and his two friends. If lunch is wow much is

the togﬂ_gm:_e_aﬂer-taaa? /

L = Fso v 12
c/n/( ==

luray Player. How
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7. Bill bought é300 w)tch on sale fohat is the percentage discount?

‘DDM S = %= 6G.OLLLLC = QCZ

—~
r~

8. Microsoft’s stock price is currently listed a« 5650.00..) If the stock price increases
decreases bhat will the stock price be?
Sk pU = 40so™ x(\1o) % (o.QQ
= Ay

9. A pair of earphones went on sale at Bestbuy aﬁo% off. Jwo weeks later, the earphones went on another
10% off. The same set of earphones is on sale at Futureshop - Which store is selling them at a

10% todayynd then

f:l'léeaperprice? qu,uu\ uTues gw .
a 3| éx\m(cﬂ%(oﬁo\) Al (6.99)

X
B (o0 = oy x (0.2V)

10. Alice bought a new car at $45,000 and each year the worth of theca
of the car after each of the first 5 years? Show all your work and steps.

= $ wo.o°
E———

eCiates by 10%. What is the worth

—

- (‘:{ S‘,m}% 6.%740_,30 )&C_)'_q'bx 0.0« O A0

—_—

11. Two different companjes are offering two differen s on the same product. The first company offers
three discounts a thff and thefy 5% off/ The second company offers only one discount at

Which company is offering a lower price?

[+ 24
- #\c?@g?oﬁ_o)(o_ﬂjy Mtlwox(o/xg)

=$91.025 = dy0,
b) If the product is worth $1200 how much cheaper is lower price? -

/
12. At the SOURCE, the cost of a DVD movie is marked up b 40%n Boxing day, they have a sale ak 25% off/ If
the DVD is worth $30, how much money does the company make?

- 430(1.40) (07%)
= £30.50

/,
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